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M a conle fnennee TOUCTHT 18 (B R v ¥ 1 7 1
wrtten as "UTOHC', how  will LTOH I
PEANT be wrttten in that fangungpe ? D [ fareg
(A OMIVOL (AY OMRO
(1) TPANM (BY TI

(C) ALRPM (C) ‘

() TPNLA (L) ]

I AU = 21 and ‘EGG® = 245°. 2. of?

then how  will you code T g ‘B

(A) 19 (A

75 (B)
=) Lo
(D) 1
in the series BMO. 3 BMO, EOQ, HQS @

(A) KSI
(B) LMN
(C) SO\
(D) SOW

(3)
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‘4 AD2RY. 4.

(A) ]

B) I

(C) G

(D) H

5. AB,DEF, HIJK,?,STUVWX . i

(A) LMNOP

(B) LMNOR

§*A’is the son of ‘B’ and is the father 6.

2 howis ‘B’ related to “C’?

n‘]'

A,D,2,P,Y.

(A) |

B) I

C) G

(D) H

AB, DEF, HIJK, 2, STUVWX.
(A) LMNOP

(B) LMNOR

(C) MNOPQ

@) QRSTU

AR T W g oM A R
&, W W QI g D ?
(A) 9

(B) e

(C) -2y

(D)




7. W Aniket is the brother of the son of

y R . sl 2 ~
Privanka's son, then how is Aniket

related to Privanka ?

@A) Grandson

(B) Son

(C) Cousin

(D) Brother

‘Five students are standing in a circle.

:'f_: inav is between Alok and Ankur.

n the lefi of Apurva. Who is

hinav on his right ?

5)

Gy

8.

qft o, Brder & A2 & 9 H
ag ¥, @ ofma fBee & $4
e o7

(A) Wi

(B) <

(C) A YR

(D) %

4y B 06 8 § @8 & | AR
STeies ST ST B A= F 8 | gl
RT3 € SX T | ST, Hgal
3 % IR T | ARET F IR J 6D
T 3K B JaT1 § 7

(A) Srgar

(B) S

(C) SIFE®

(D) TS



9.  Fivegirls A, B, C, D and E, travel to
only one of the following five cities
Mumbai, Delhi, Kolkata, Chennai

and Jaipur. E does not ftravel to

Kolkata, Mumbai or Chennai, D
does not travel to Mumbai, Chennat
or Delhi. A travels to Jaipur. C does

not travel to Mumbai. To which city

does C travel ?

(A) Kolkata

hence will be 62 years, then

(6)

10.

dfg wefdl A, B, C, D @Y E,

frafafiae o gl Has, fee,
YT, ATg oMt T H 8 e
e A AT et & | F ehlerene, Hag

T 218 Bt g TE Bl e D LJ'J

Y=g 47 feecdt & g 78 Fl 2 1 A
STYR %t AT Al 2 | C g 6 A
Tef el & | C [h| 9T # AE
P & ?

(A) i

(B) =%

(C) . SEYR

(D) feweit

ST 3:4 © 1 3R 20 af =1 gf
WY 62 7k AW, A o B
AT 31T o ¥ 2

(A) 56 a9
(B) 64 o
(C) 60 qy
(D) 52



11,  Inafamily, mother's age is twice that 1.

ol daughter's age. Father is 10 years

older than mother. Brother 15 20

years younger than his mother and 5

years older than his sister. What is the

age of the father ?

(A) 62years

(B) 60years
(C) 58 ycars

(D) S5years

the number which when 12,

(7)

v uftge i A @ 39 AT @l
au A Arh B foar 5 @ 10 o

ay ¥

| O et " 7 20 a9

BT & ool ot @Eq @ 5 ad
gl & | far @ oy Ree
g7

(A) 62 a4

(B) 60 a4

(C) 58 ay

(D) 5594

39 " & veahe B9 14 SR

e 9T 195 U By B

(A) 16
(B) 13
(€C) 15
(D) 14



13, India, Delhi, Assam, Guwahati : 13, e, fel, g, ‘J)”llf’»irffl

T (A) N ﬁ)k().
|
{ :

(8)




14. Gradutes, Post-graduates :

o (A

14, AT, TR

®)



15¢

Which figure will best represent the

relationship amongst the three

classes-Doctor, Teacher ?

(10)

I3

A GBS i S, gy

%éiﬂwraﬂaa@lwnﬁlﬁﬁa

HUT ?
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16. Statements : 16.

I. All farmers are doctors.
2. Alldoctors are magicians.

Conclusions :

I All farmers are magicians.
II. No farmer is amagician.
(A) Only Conclusion II follows

(B) Both Conclusions I andII follow

(€) Only Conclusion follows

Siate
- -
.

20 - No Squares are rectangles.

(11)

17.

HI

1. 1 T St & |

2. 9 SfFA TR E |

EELE

L 9! fham s ¥ |

I1. %13 e ST 18t & |

(A) Facl TRy 11 STEROT e &

(B) M= I &R II SNF Srgae
CIG R

(C) e ehef I STERYT hial
D) ar a F=pd I a1 11 SR
FAAT &

FM

L. g ¥t o o7 8 ¥ |
2. T ST Breget ¥
=Ry -

L ZBEET I |

.58 9T a1 ¥ |

(A) Fa9 Frepd 1 eERer @
g

(B) e Fepe 1T S1aer it &

(C) femd 1 ol 1 3Nt SrpER
A &

M) 7 o Frepd 1 AR 7 & 1
STFHT el



. £ T e SfEdl H 99
1R Statemen! Hard work 1§ poor mans g, FHUA : HEl e T
ir'
wealth
:
!T'Vf-fr”

{ i
L onciusions
——

| o e STEHl BHAN el Bt

A poor man 18 always a hard

worker.

(1. T T S iy ST hel Hea

I R S o R S, S
—

1. Apoor man earns wealth through .
Y g FHHCAI & |

ke {11, G I STeT Buel Hewdl Bl

A

A wealthy man is always a hard
[V, T TS e O H1 qHhal o
a
afe; g Hewdl e & |
(A Fae epg | STHET THc
(B) e (7R 11 STERYT HYa
(C) M= I &x 1 S oFE™

ETG )

(D) g o Frepd arperce =& av

s follow

g

(12)



19.

Statement : Is 1l necessary that 19

education should be job oriented ?

Arguments :

I. Yes. the aim ol education 1s to

prepare persons [or earning.

II. Yes, educated person should

stand on this own feet after

‘ f‘ cumpletion ofeducation.

9, education should be for sake

wowledge only.

fand 'V are strong
gnt | is strong

nd W are strong

(13)

O

|l'||"‘ X
r
!
._|f.,'[=:.' &
1. & i
:-:'Tr J|
113
_..'l._;.-'

I¥. 98l &3

(A) @[3

(B) @ 1)
() hd
(D) d< |



20.

Statement : This year becausc of

good rains and proper care farmers
are expecting good crops.

Assumptions :

I Goodrainis the only factor to get

good crops.
II. Whether good rains or not the

farmers always take at most care

20.

(14)

aﬁaﬁﬁa@mﬁﬁﬁ?ﬂ?m

tﬁﬂﬁiﬁlc{”ﬂ'ﬁ’ﬁ'{%%l

N

(RS I

T I © |

[ e SRer & & A @l R
ey HEe B fg eaeT St |
ey FE o |

(A) mmlﬁ%a%

(B) e &RoT 11 fAfed &

(€) At e 1 Fifet &

(D) & &wRow 1 &fw = & 11 e

g
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21.  Which of the following is the basic 21

function ofa computer ?
(A) Input
(B) Storage
(C) Processing
@) Alloftheabove
22. Which of the following is not a
computer component ?

(A) ALU

(B) CPU

h one of the following statements ~ 23.

(15)

o
2%

Porerferfterer & & #rr-ar F9 =T %1 T

T & 7

(A) 12

(B) R

(C) wraftm

(D) IIYH al

Preferflaa # & HiF-81 F7GT 1 0

qed el ¢ ¢

(A) Y

(B) #HYg

(C) #E

(D) FFT

Frefifad & & $-91 F99 F79C

FIRATEE ?

(A) T A deaT §
e

(B) FPX wWI T T
SFGRET BT T &

(C) FYeX Faq ereaa} | AT &l
g

(D) T& U I JUHT & ol
e F EAGE, T TG SR
CGIERETGIR




24.

@5, Processed dataisknownas........... 5.

Which of the following is not a part 24 Rt ¥ A B TR 3

ofthe hardware of a computer 7
(A) Monitor

(B) Keyboard

Wy CPuU

CD’)/ Microsoft-Office

Be arithmetic and logical 26

pms in a computer are done

(16)

=13 I U A e ¢ 7



97. Which of these is not a hardware 27, 371'3 A HF-A1 BrEdgL AT Tef

component ? g7

(A) Inputdevice (A) FTYe BE|
Gﬂ/ Operating system (B) SAfqefe fereem
(CINCPU | (C) ;ﬂ'[ﬂ‘i

(D) Memory device (D) HAE I

28. WU H UrEIHE I ST @l

(B) ¥

(C) TEm™

(D) oifsere







31. Which of the following options is 3. Prefafers § 4 S-w Rreew dy
inconsistent with the remaining three @t @ ordma B 7

A7 Cache Memory (A) b it

¥ Arithmetic and Logic Unit 1) ordhfess vd At gfie
(C) Instruction Decoder (C) e Rt

(D) Control Unit (D) B g

32. Which is called as brain of any 32, mﬁmmmmﬁ,ﬁ

computer system ? &He] e B 7

UPS (A) g

g (B) Monitor - (B) HiFTET
ey T (C) g

o o @) Wiy
Which of the following memories 33, i %} Rrg A & drdrg 9t
is directly accessible (Access) by the wdt ager (o) B @ 7

JEPU? o
~ Hard Disk
oy {1k 3
- Magnetic Tape (©) Hvafes g
s | (D) Sy

(19)



34,

Which of the following options does
the CPU memory include?
,gy/ Secondary Memory

(B) Only Scratch Pad Memory

and

(C) Scratch Pad Memory
Cache Memory

(D) Only Cache Memor)

.....
| L .

lL"“‘\ the Lu!!;[‘ulrl “

.........

unit and

arithmetic logic

oul de\'iccs how Lo re spond (o a

14

(20)

Srfeiad ¥ T F9-97 A5

( A)

(B)
o 2 T Wd SR
Sl
D) A 39 A
et % AN, oTdHIeE
':r';?'.i '{';-('T:r 117 ""Pi.‘]‘ i 'a'”,l”l

2w B 7o & &% B e @
R A A8 afafmar 2 2

(B) %Yz Zarn

(C) ﬁﬁq’fﬁ?

(D) "_'fﬁ:-?f%zgfqv_



36. The CPU and memory are locatedon 34 Hidig ot 791, g e .

the ........... ofthe computer. W REgEa ®
(A) OutputDevice (A) SSEYE EEIES
(B) Storage Device (B) TR fRaEyg
(C) ExpansionBoard (C) TEEIE e
ED’{ Motherboard (D) TS
37. Whoinvented Computer? 37. YA s e e ?
(..@5 Charles Babbage (A) T

(B) Galileo Galilee (B) Afeiferar At

(C) Yo &

(D) S9Ew ¥ | HIg T

Bh among the following is 38, Ry=ifuRad ¥ § £ Oew aur O 3
table and easy to carry ? A & ?

' o e

B) o e

(C) W

(D) I9YH A | HS T

(21)



N

input devices ? et & 7

(A) Keyboard (A) FAE

(B) Mouse ®) "SH

¢ BothKeyboardand Mouse (€) FEIS AR TSH

(D) Noneof theabove @) I A E i T
40, Instructions to computer are given 40 FPEET N IR v e ey e

throagh ...... - {

&) Input Unit @ FEEIE

®) ALU ®

(C) Printer ©) Bz

@) PenDrive ©) S

4. Which of the following is not a 41 Frfofed ¥ § F b
RE




42. InMS-Word, if'you pressthe Tabkey 42, wwug-ad # 4fd sa U dae | Mg

within a table, the cursor moves you

(B) Previousrow

(C) Previous column

(D) Nextcolumn

In Microsoft-Word Tab stop markers

canbe removed :

~ then press Ctrl+S
i 1

43.

a1 e e ®, o e et

o e |

(A) Nexttable

Previous row

(B)

(C) Previous column

(D) Nextcolumn

Microsoll-Word ﬁ Tab &9 ch'éﬁ E}?I
A (A (REC
(A) T & G & AR @A g

Ctrl + S Eﬁf WO I E T

(B) o WY AEHT H G @ @}
ATHEHT

(C) HHT M ¥ WY W @ g
Rmerﬁﬁw

(D) FT H ¥ @ W @ g

Cirl + R %) €T




44. MS-Word is basically used for........ 44,

(A) Creating databases
(B) Analyzing the data
(€Y~ Preparing the various documents

(D) Preparingslides

45. Which among the following is a sans 45,

serif font ?

& All of these

(B) Arial
(C) Courier

(D) Times

which shortcut keyboard is used ?

(24)

46. To go to end of MS-Word document 46

(A) Serw g BT

(B) e & R HH

(©) RfF s dR &

(D) WIS TR HA

Frafafeg & & @F-a1 Blve 8.
At 8 7

(A) a9l e

(B) oftaa

(C) T

(D) =W

TUH-a2 agite & aid @ o B
o 6 e sitéae a5 aqdn
AT 8 7

(A) Alt+D

(B) Ctrl+D

(C) Ctrl+End

(D) Alt+ End



47. Microsoft-Word is an example of 47 mg;ﬁw-aéqzﬁmm%:

a/an:
(A) Application Software
(B) System Software

6(;)/ Database

(D) Operating System

E 48. Incaseof Title Case:
{A) Every letter is converted to
upper case

B Every word in a sentence is

wery word in the beginning of
tence is capitalized
& case is converted to

se and vice versa

(25)

(A) Application Software
(B) System Software
(C) Database

(D) Operating System

gl (<r8ed) 9 & A | -

(A) T&F B AW F ¥ Fde
EIRSIRIR

(B) U% 91 ¥ & = hiUed (541
ST B

(C) T T A 7 Tei% = 7

e g1 ST 2

(D) T 39 T AW 39 AX 340

ap

% f[auda | g=ar & 9



Y

ik ke B
‘ T ek
49 Mail—mcruci.n:;icnmnnncnlnI; A9 N ™

(A) AR

Ay~ MS-Word

(B) Word Press

(1) @2 i %
(C) ooy i ce el
(€) MS-Excel

(1)) - 5
(D) MS-Access

8| sthe  Prpedt B W -
50. Which of the following alternatives 0. RrferfiEe T

Hrardie-a8 W A
RS L

ig aft extension of Microsott-Word

File ? 87

| (A) dcox
5 (A] deox (A) det
| (B) doex
(C) doed

(D) mwd

HeetHiEaT W’T" T

. .
=
(-
w
<
z
0
-
(¢
=
- 3
=
=
-
[ =~
=
B
=
¥,

(26)



5. Whichofthe following is included in

paragraph Formatting in' a word

(€) Underline colour

(D) Linespacing

W
2

54.

o i & St a8 NaaT |
Y Rt & onfirer & 7

(Ay dIEh

By w®ve

(D) Ul ST

frfeiad ¥ & M- Teg-as &l

siifea g T 8 ?
(A) 3d &

(B) Ia‘rﬁ a%

(C) T=HY

(D) S

frffad & & FF-91 @ve fqess
(Section Break) &l YehlT Tl & ?

(A) OddPage

(B) NextPage

(C) Column

(D) EvenPage



8

Which of the following is not a basic  55.

text formatting feature ?
(A) MNalic

3 Underline

(C) Capitahize

(D) Bold

Which of the following components  56.

of MS-Office is categorically similar

MS-Access

(28)

ﬁﬂﬁlf@ﬂﬁﬁﬁ?—mﬂﬁ?ﬁ[m%
Yereer AT bt feeiee =&t R 2

(A) gefer®

(B) @i BT
(C) ehiees
(D) S

MS-Office Fl HIF-TT TaTT T
Notepad Saraare ?

(A) MS-PowerPoint

(B) MS-Word

(C) MS-Excel

(D) MS-Access

CtrHD T &am & MS-Word #-

----- STARTIAT Sffery o7 77er @ |
(A) BRI

(B) WIgs o i

(i‘) LTI

(D) Hlug



58. What are the shortcut keys to paste

the copied text ?

(A) Ctrl+C

(B) Ctrl+V

(C) Ctrl+X

3 {DJ/ C&1+P

"In MS-Word, which of the following

ons under "Change Case" is used

convert the selected text from

case to lower case and vice

58.

(29)

m rﬂ':rj.—,r _:F‘.ﬁ" m ;r_ﬁ' > 7
FP e " J —f C JJ [ o Jl - =
o) 7

(A) Ctrl+C
(B) Ctrl+\
(C) Cirl+X
{D_} Ctrl +F

THTH-TS § 379X Y Bl A 4 3

- - e

AR A A AW T § g0 3 [oC

(i = ¢
oo $Hg”

rl"‘\ [ oW

Hiarad 69

3T R ST g 7

(A) TRTIH

(B) THFH

(C) <FIE &Y

(D) 19X %Y



60. MS-Wordisbasically usedfor ......... 60. THIG-AS FH WA HAT: ......... ;

_ _ fee o e 2
(A) Creating database

(A) ey Giad He
(B) Analyzing the dats s
(15) ARy he dair B) 31 fsaw 7
@) | Preparing the various documents (C) FRifsF gam 93 &0

(D) Preparing slides (D) TS A HA

re-uFad & Frefafag § 2

61. Which of the following functions 6.

. t-E ne = g ¥ oo =
Of Microsoft-Excel returns the HA-T B FET 2089 gfafed

8 AeEpaH g 3 & 7

(A) DCOUNTA

() PCOUNTA

!
I

(B) DMAX

(C) DELTA
(D) DCOUNT

. UEHETE-TE S g8 W 39
ST B :

(A) SlRHe

(B) CE]

() dresfe

(D) g




63 Theadvaniageofusingaspreadsheet 63, @gsfie Wi # #1 aW e ¥

(A) Calculation can be done (A) TUHT & B @ F Tl
automatically &

(ﬁ) Changing data automatically (B) 3a H qftgee 89 T T

updates calculations e & e 8 A B

——

wy
) More flexibility

o T T
[ ™ gldl 2

e

Allofthe above @) IHEEEE

) I

afthe following is an example  64. Srefafag § 8 dF-a1 8s9ie

-

=

T =
[\JC{" \.r“-ilf“ o Q

aft Outlook (R) WEAIETE HIeqd

-PBW?FPHHH (C) HiEeprETE S

($1)



65.  Which feature of Microsoft-Excel is 65.

used to automate the data entered in a
defined sequence ?

(A) Style
(B) Autofill
(C) Intending

wh (D) Alignment

66. An Excel workbook is a collection 66.

of:

(A) Worksheets
L ®
3 (C) Workbooks

b (D) Worksheets and charts

(32)

% a

ArEshIEte-TeR &l BIF-4l s
(W) BT IUERT TR ST 3
ot Y MW BT Pl WEIad FH B
fore fepaT ST @ °

(A) wEw

(B) St

(©) T

(D) ST (WRew)

RETEC S C o C I e
2.
(A)
(B)
(©)

Worksheets
Charts

Workbooks

(D) Worksheets Td charts

ST 79 THUH- e & Desiie de

ooooooo



B |

6. What is the shortcut key to enable 68 uqUH-UFIT ?fh g:% et # e
&l GG HT 8 H-4l Aehe Foft
%1 AT B St 8 7

filtering of selected cells in MS-Excel ?

(A) Ctrl+Shift+L

B) CultF (A) Ctrl+Shift+L
(B) Ctrl+F

(€) Alt+Click +L
(C) Alt+Click+L

(D) Shift+F (D) Shift+F

§9 Which of the following is not an 69, Fr=fiea ¥ @ HF-87 DBMS Fl

eof DBMS ? R T &

' (A) i FEL/TH

&) SOL Server/SQL
(B) HRTEFI
£) Microsoft Outlook ©) TR S
3 osoft Access (D) TR =
a menu contains a list 54 FRE & TE aﬁ{\ S A=
DRI
(A) NN

(B) &HIGH
(C) 3
(D) R

(33)



71.  Which among the following is used 71.
to navigate through hypermedia
; structures ?
f (A) Nodes
i:
I (B) Keys
(C) Noneofthese
(D) Buttons
......... feature of Excel will 72.
dynamically produce new outputs
when one or more inpufs in
' . ced cells are changed.
(34)

(D) €<

5Tq Hafdia A & U 1 UF 9 offeF

Y 9 U I &, A U @

....... fersie (), e =9 &
¢ HAISTYE T I B |

(A) T

(B) @& Fge

(C) o frwif

(D) & feifdey



7. The column of a Microsofi-Access 73

table is knownas a/an :
(A) Inverted Row
(B) Vertical Cell

(C) Record

(D) Field
i, J’ ¥

All of the above

..

¢ isanextension for ............... 7.

(35)

‘An Excel spreadsheet helpsin : 74,

gt~y i & &9 &

g @Y ¥ ST STl 8

(A) Inverted Row
(B) Vertical Cell

(C) Record

(D) Field .

e TR Biesfie 7ag Ll € -
(A) STHEFAH

(B) eI NER § Hafead B J
(C) GEAHSD SeT &l TOMT B 7

(D) I9YH &
uxls'x” Qﬁﬂ%ﬂ:" ....... %ﬁ{q% I

(A) THFH

(B) T
(C) g8
(D) UleR@Ee



76. In a spreadsheet, identify the wrong  76.

option fora legend in the chart :
(A) Left
(B) Top
(C) Down

(D) Right

located ?
(A) Tool Bar
f’_m) Menu Bar
) Title Bar

(D) FormulaBar

@ spreadsheet what output would 78,

mula=DIV (10,3) give?

77. In Excel, where is the Cancel button 77.

(36)

w @gde & = 7 FEdr acte
fery e e 61 a@arT #1

(A) e

(B) @9

(€C) =1

(D) TEE

R 3, ARE 969 Fo RaT 2k
g7

(A) &R

" (B) AR

(©) TR
(D) Wider 9%
T BisdiiE & widar - piv (10 3
HI HFEYE Ay ?

(A) 3.3
(B) 3
(C) 1

(D) #NAME?



9. A isanntersection ofarowand 79

acolumn in a worksheet.
(A) row

(B) cell

(C) column
(D) workbook

80. What is the intersection of a row and

~ acolumn in MS-Excel called ?

&0.

L ghdie & A o Hem
o GUETHR & |

(A) A

B) A

(C) HiaH

(D) d%hds

-

% s - = 3
& SCTHE il F41 Fel Al 2 ¢

(A) TH oS

-(B) =d

(C) TS THRIN

D) THEA

BT w0 & F8 T S € ?
(A) A TARTS

(B) #Ue UAR'S

(C) TEETEETS

(D) IYGH & | Fig T



o

82.

83. intefnet,

What is the full form of PDN ?
(A) Pocket Data Network
(B) Packet Data Network

(C) PacketDischarged Network

(D) Pocket Discharged Network

initially

ccccccccccccccccccccccc

(38)

started &3.

g2, ige (PDN) &l 0 &9 41 8 ?

(A) U 2 Aedh
(B) e 2T Aead
(€) e femrs Jeas

(D) Uiehe feware Aegs

%l T &t |

(A) TCP/IP 99T/ experiment/

TCP/IP
(B) ST T et 71 e

(C) 3 AT 3 SNy s a5y

e

(D) SYYH Fft 7 Frrar



 al

84, Which of the following statement is g4
incorrect with reference to TCP/IP
model ?

(A) TCP/P follows a horizontal
approach

(B) TCP/IP has seven layers
r"i_ [ J

- ‘ét:_‘,) TCP/IP is more reliable when

compared to OSI model

i) TCP refers to transmission
gontrol protocol

ers are computers thal provide

gces which are connected to

(39)

83.

- A omd dfew # ded A
Prefefiga & & -9 FIF TTeld
g7
(A) it /oS w Afert gftesioT

o1 SETT el &

B) &t omd & A qwt
g

(€) oMuwemd AT # O H
et /g arferes fvae @

(D) e FEfe Fgi S
%! Gafd Fe ¢

FOT 3 FYE & N HEwT Iueey

FAE A oo ¥ s B

2|

(A) FMEE

(B) HAeT®

(C) gW&EFEXR

(D) HThH




86. The application used for viewing
webpages isknownas ...........
(A) MS-Word
(B) Browser
(C) E-mail
(D) PowerPoint

87. The software that allows you to read

| % webpages and surf the internet is

(€)  WebSpider
D). WebBrowser

ich among the following is a web

86. JsUE T B foTT IT 6T TH T

---------

87. WAL N ATH AT Yeq Y
STEIC A HET Dl ST adll ©, 99
T A 8

(A) WebCrawler
(B) Search Engine
(C) WebSpider
(D) WebBrowser

88. eiiiE & & P qEmEE
T Tl O 39 Sae & 7
(A) SR
(B) 3T THGIRT

(C) e v=iRT
(D) Je=y

(40)



89.

Which of the

Browser ?

following is not a Web g9

(A) XHTML

(B) FireFox

shortcut to add a website 90

(A) THHUETHUS

(B) SEATHIRT
{. & ) B '__{’ e
{ [ ) ) E \C-‘)

[HHl d9aEe F qEder (daie) F

AT H & SifeHe FT 8 ?

(A) Ctrl+F

(B) Ctrl+D

(C) Ctrl+E

(D) Ctrl+B



91.  Which ofthe following is abrowser ?
(A) Safari

(B) Linux

(C) Windows

(D) macoS
Google Chromeisa:

I(A) Application layer protocol

Vhich of the following is/are cross-

91.

92.

(42)

Prfefag & ] SS9 HF-11

-

(A) TSI
(B) o=

() fi==

(D) HHIATH

(A) UAHI AR N
(B) A9 99 399

(C) a9 AT

(D) 99 2T &N

MeiafEag & 4 f9-w/a 7
(1) Chrome (ii) Edge (iii) Safari.

(A) Fad (ii)

(B) ﬁﬂﬁ(i)

(C) %ad (ii) 3 (iii)
(D) F& (i) 3 (iii)



—

04. Which of the following is not a Weh
browser 7
(A) NetScape Navigator
(B) NetSurl
(C) XML

(D) Opera

hich of the following is not a Web

1)I

95.

06,

(43)

feysrferfeaer & 2 -0 99 a3 78

B 7

(A) ety Adre
(B) e

(C) UFHUHUL

(D) oA

frfefaa & & @9-a1 39 Fa
Ter & ?

(A)

(B) §TTIT TR

(C) &

(D) Bg\t[

TEEhY T B -

(A) TP AT &l Nerpl

(B)  yefa quy @ NEEAN
(C) 99 sraurt
(D) a9 gd 9



] e ?
97. Solids: Freeze :: Gases : ? 97. o AT A kT

(A) Melts (A) T
(B) Smells (B) Ty
(C) Freezes (C) SH
(D) Evaporates (D) A

98. Virus: Smallpox : : Bacteria : 2

98. T8I : e :: ey : ?
(A) R
B) e
(Q ot

(D) &
(44)



"//

99. 39:91:51:9 S8 839 : 91 4 510

(A) 125 LR
B) 90

(B) 90 -

L. ©) 178

D) 119

{,-s:. language ‘CRACKS’ is 100. Il fhdr HIE amET o 'CRACKS' I
'DQBBLR' fmar sy &, af B ot
HE AW §F 'gpROUT' 34 @l

ST ?

(A) TQSpVU
(B) TOSNVS
(C) TQSNVS

(D) TOSNVU

(45)




